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Prezygotic barriers

Temporal isolation

Habitat isolation

Behavioral isolation

Mechanical isolation

Gametic isolation

Postzygotic barriers
Hybrid inviability
Hybrid sterility

Hybrid breakdown
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Select the correct response to the following question.

Male fireflies of one species signal females of the
same species by blinking their lights in a specific
pattern. Other firefly species have different patterns.

Sperm of one sponge species cannot penetrate the
€gg of a closely related species.

Mules—hybrids between a horse and a donkey—are
infertile.

One species of garter snake is primarily aquatic, and a
closely related species is primarily terrestrial.

Nearly all embryos die when eggs of a bullfrog are
fertilized artificially with sperm from a leopard frog.

Two cotton species produce fertile hybrids but the
next generation is infertile.

One species of spotted skunk mates in late summer,
and another species mates in late winter.

The copulatory organs of two insect species do not
fit together.
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